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Q29) K: Flowering plants 

Q30) 

Q3�). 

Q32) 

Q33) 

Q34) 

Q35) 

L: Fungi 
a) The stem of plant C is thinner than the stem of plant D
b) Part E helps plant make food in the light
a) 
b) 
a) 

b) 

a) 
b) 

c) 

a) 
b) 
c) 

a) 
b) 
c) 

rhe cover is a solid 
Juice is a liquid 

. . 

The iron rod moves towards the magnet which exerts a pull on the iron 
rod 
Puyanesh's observation shows that the iron is a magnetic material 

The light from the lamp is reflected by the ball and enters Lucian's eye 
Z. Z is best at reflecting light so when the driver shines his light he could
see the cyclist clearly.
Light sensor connected to datalogger.

Flexibility. THe ability to bend without breaking 
The more mass added, the distance d decreases 
The distance d decreases more than when the same mass were used, 
because the strip made of material A is more flexible 

G, J, L 
It absorbs water from the undigested food into the bloodstream 
The gullet does not digest any food 
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d) Digestion ends at the small intestine

Q36) a) The iron rod would attract the paper clip
b) The iron rod had become a electromagnet so it can attract the paper

clips
c) The iron rod would not attract the wooden toothpick
d) The iron rod would not attract any paper clips because it has lost its

magnetism.

Q37) a) A and C both lay eggs in water
b) B has. a three stage life cycle but D has a four stage life cycle.
c) (i) frog: A (ii) butterfly: D

Q38) a) Air is occupying the space the water once occupied and pushed the
water out

b) The water level in the cup would increase as the air would escape
through the hole, letting water occupy the space.

Q39) a) If the distance of the object from the light source affects the length of the
shadow.

b) Light travels in a straight line so when it is blocked, a shadow is formed.
c)

Variables Changed Kept the same 

Type of torch 

.. Distance of object 
. . . 

from light source 

Length of shadow 

Q40) a) Heat travelled from the hot sand to the air in the bottle
b) Metal is a better conductor of heat so more heat is lost from the metal

bottle to the surroundings
c) The temperature of the sand would be reduced to 30 degrees as it is

room temperature

Q41) a) X
b) (i) cloth (ii) cloth
c) Cloth is a poor conductor of heat and is able to reduce most heat

loss from the hot food to the surroundings.
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